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[image: image3.png]Which situation is best represented by the expression 4h + 2?7

A Kepa spends 4 hours babysitting and 2 hours traveling.

B Kepa spends 4 hours babysitting and receives $2 in travel expenses.
C  Kepa will be paid $4 for babysitting and spends 2 hours traveling.
D

Kepa will be paid $4 for every hour of babysitting plus $2 for travel costs.




[image: image4.png]Simplify the expression below.
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[image: image5.png]What is the simplified form of the expression below?

8x5 —6x3
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A 4@ -3
B 4-3
C 43 -3«
D 4 - 3x




[image: image6.png]10  Jessica went shopping for a new watch. She found a watch that was originally priced
at $50 on sale for $40. By what percent had the watch been marked down?

A 10%
B 20%
C 25%
D 40%




[image: image7.png]Multiply (@ + 2)(3a — 1).
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[image: image8.png]The cost of Cynthia’s dinner is $15.20. She pays an additional tip that is 20% of the
cost of the dinner. What is the best estimate for the amount of the tip?

A $2.00
B $3.00
C  $4.00
D $5.00




